
CAESAR SERIES

USER'S MANUAL

BAR STOOL



     350lbs  [Do not stand on the item]



Swivel Plate

Connecting Bar

Connecting Bar

1pc 1pcx 2pcsx 2pcsx1 2 3 4x 2pcsx

2pcsx 1pcx

5

6 7

M6*20 M6*25 M6*40 M8*60

4pcsxA 4pcsxB 8+1pcsxC 8+1pcsxD 8+1pcsxE

1pcxF G H1pcx 8+1pcsx I
Spring Lock
    Washer

4pcsx
Leveling Feet



1

2

6
3

4
3

4

6 5

5

7

�

�

�

�



1

2

x8
x8

80%

E

D
F

x13

3

4

4

2

F
C

100%

C x8

F x1

5 66

100%

First tighten the legs and connecting bar  to 100%.
Then tighten the legs and seat frame from 80% to 100%

Remark:The same numbered legs are on the diagonal,not 

on one side. 

.

As shown in the picture,the lower mounting
holes of the legs are used to install the 
connecting bar      .The same numbered 
connecting bars are face to face.

5

6

5
6

3

100%
80%

80%

100%

H

D
E
F
H x8



3

4 A

F
B

F x1
B x4

A
G

1

G x1

x4

7

100%

Not

100%

e:Rotate the swivel plate to cross and separate the
upper and lower iron plates,aligning the four holes in
the lower iron plate with four screw holes on the 

wooden frame. 
80%

100%

80%

100%



5 I x4

6

  

I

Adjust the leveling feet for balance.




